rﬂ_]'}fi
\niy

57 75N 2 EREEIH LIS

i)

S
gl
Il



MERIEE

I & AR = AT E | EAL
AT T As t=3cm 5.35 5] m
As t=bcm 54.75 55 m
AsE 7K EHE T
L= 5.0 km =
As& KNS T ;
0.08 0.08] m
% AR AR T ,
t=15cmLZLF 2284.36 2,280 m
wmA
L= 4.6 km 109.47 109 m
NGRS
N Mt 2232.67 2230 m
e 1 E#& -
A7 51.69 521 m
* B T — - -
t=3cm - BAEMKE - #HW3.0mUT - PK-3 237.22 237] m
% )%I L L 2
t=bcm - BEZBNE - A1 - PK-3 51.69 521 m
* B T p— - . ;
t=bcm - BAEBNE - BHW3.0mEB A - PK-3 1,995.45 2,000 m
XERLT |
EEE - wilbem - H 373.00 370 m
XE#RET
E=42 - w:30em - B 3.00 3] m
&R T ——
Y7 Z - widbem - B 4.80 5] m
X R T
WEE - w:lbem - B 75.00 5] m
X R T
E48 - w:lbem - &= 4.40 4] m
X R T
MRS - wilbemitE - H 35.28 35 m




HEREEATER
@ t=3cmt&ts (8 : MHLEAs)

No. 20N FE(R) TIE S H&

1 UEp=cpi 2.65 54.80 145.22
3 UEp=cpi 2.65 5.00 13.25
4 =012 2.65 2.60 9.30 24.41
5 B 2.60 2.50 0.75 1.91
6 EITELE 2.50 1.75 4.38
7 =012 2.70 2.50 1.95 5.07
8 B 2.50 2.70 0.85 2.21
9 UEp=cpi 2.70 15.10 40.77
At 237.22

@ t=5emAJ (HEFEA - HiE  BEBENEAS)

No. FAR FE (@) TE S [Eifi

2 UEp=cpi 2.65 9.70 25.71
20 =02 9.70 5.20 2.30 17.14
21 UEp=cpi 5.20 1.70 8.84
Hi 51.69

(3 t=bcmift (& : BEZNEAS)

No. FAR FE(ig) TE S [Efi

10 —AF 1.50 1.50 1.13
11 —AF 1.90 1.70 1.62
12 Uzp=spiZ 5.80 4.80 27.84
13 Uzp=spiZ 5.35 150.00 802.50
14 B 5.35 5.40 50.00 268.75
15 =02 5.40 5.35 50.00 268.75
16 Uzp=spiZ 5.35 100.00 535.00
17 Uzp=spiZ 5.35 15.70 84.00
18 —AF 2.55 2.30 2.93
19 —AF 2.55 2.30 2.93
B 1,995.45




O R DT (t=15em i)
t =3cm 2.65 + 2.70
t =5bcm 520 + 9.90 X

O #HEERRBRE (t=15cmKH)
237.22 + 51.69  +

O i (As &

4 + 230 + 535 + 2.30

1995

+

( 237.22  x 0.03 )+( 2047.14
O B 1E & (Het) 237.22
O REEEE(AA) 51.69

O F=E(t=3cm - BEMRE As - BHW3.0mkE - PK-3)

O £BE(t=b5cm - BEZNE - AS -

O =E(t=5cm - BAMBKE As - #BW3.0mELE - PK-3)

O XE#RIT (LR - w:15cem - B)

PK-3)

15.00 + 171.00 + 187.00

O XEREI(+F : =& - w:30cm - H)

O KEHI(EY7S - w:d5em - A)

O XE#RT (BEER - wilbem - &)

O XERRTCHAE @ E4R - w:lbem - &)

O KEfICIF : tkExn)

17.64

45

x 0.05 )

1995.45

230 + 2.50
50 x 15
X 2

5.35
54.75

2,284.36

109.47

2,232.67

51.69

2317.22

51.69

1,995.45

373.00

3.00

4.80

75.00

4.40

35.28



T A7 7 VNI E K B H R E

Vo 7 AL B

P TES

WK &

A (7] [ s

RIS (1/100m) (m) () fisi =
3cm 0.078 5.35 0.0042
4cm 0.104 0.0000
5cm 0.130 54.75 0.0712
ocm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
12cm 0.284 0.0000
15cm 0.350 0.0000
19cm 0.438 0.0000
7 0.0754
QD) 0.08




